- [2] P. E. Caines and H. F. Chen, "On the adaptive control of stochastic systems with random parameters: A counter-example," presented at the Workshop on Adaptive Control, Florence, Italy, Oct. 1982; also in *Récerche di Automatica*, to be published.
- [3] H. F. Chen and P. E. Caines, "On the adaptive control of a class of systems with random parameters and disturbances," in *Adaptive Systems in Control and Signal Processing*, (Proc. IFAC Workshop, San Francisco, CA, June 1983), Y. D. Landau, M. Tomizuka, and D. M. Auslander, Eds. New York: Pergamon, 1984.
- [4] —, "Optimal stochastic control for discrete time systems with random parameters," Dep. Elec. Eng., McGill Univ., Montreal, P.Q., Canada, Res. Rep., 1983.
- [5] R. Evans and X. Xianya, "Discrete time adaptive control for deterministic timevarying systems," Dep. Elec. Eng., Univ. Newcastle, New South Wales, Australia, Tech. Rep. EE8225, 1982.
- [6] O. Hijab, "The adaptive LQG problem-Part 1," IEEE Trans. Automat. Contr., vol. AC-28. no. 2, pp. 171-178, 1983.
- [7] Y. D. Landau, M. Tomizuka, and D. M. Auslander, Adaptive Systems in Control and Signal Processing (Proc. IFAC Workshop, San Francisco, CA, June 1983). New York: Pergamon, 1984.
- [8] R. S. Liptser and A. N. Shiryayev, Statistics of Random Process 1. New York: Springer-Verlag, 1977.
- [9] W. M. Wonham, "Some applications of stochastic differential equations to optimal non-linear filtering," SIAM J. Contr., vol. 2, pp. 347-369, 1965.

# The Strong Consistency of the Stochastic Gradient Algorithm of Adaptive Control

## H. F. CHEN AND P. E. CAINES

Abstract---By use of the technique of Chen [5] sufficient conditions are established for the strong consistency of the stochastic gradient (SG) algorithm for MIMO ARMAX stochastic systems without monitoring. This result is then used in conjunction with the method of disturbed adaptive controls introduced in [1], [2]. Hence it is shown that the SG algorithm generates strongly consistent parameter estimates while it is operating as a part of the SG algorithm of adaptive control of Goodwin, Ramadge, and Caines [6].

#### I. INTRODUCTION

The stochastic gradient (SG) algorithm is probably the simplest method of parameter estimation for linear stochastic systems. It was used in [6] for the adaptive tracking control problem and later on in [2] for the adaptive tracking problem where disturbed controls were used for purposes of identification as explained below. In these papers the strong consistency of the SG algorithm was not established. In [4] the strong consistency of the estimates generated by the quasi-least-squares (QLS) method was proved for the case of a system subject to feedback control without monitoring.

In this note, by use of the technique given in [5], we first establish sufficient conditions for the strong consistency of the SG algorithm for MIMO stochastic systems without monitoring and then apply the method involving continually disturbed controls which was introduced in [1] and developed in [7] and [2]. Continually disturbing a system's control input provides a technique for ensuring that certain processes of regression vectors have the persistency of excitation property which is frequently required in recursive identification schemes (see, e.g., [9]).

The ordinary differential equation method and the associated hypotheses used in this paper should be compared to those (involving monitoring) used to obtain the related results of [8, Theorem 1]. Concerning proof techniques, we also remark that the stochastic Lyapunov—or super

H. F. Chen is with the Institute of Systems Science, Academia Sinica, Beijing, China. P. E. Caines is with the Department of Electrical Engineering, McGill University, Montreal, P.Q., Canada, and the Canadian Institute for Advanced Research. martingale—method used in the basic first lemma below is fundamental to the consistency proofs of [10] and [3], [4] and to all of the references of this note concerned with stochastic adaptive control.

It will be shown that the SG algorithm used in [7] and [2] does in fact generate strongly consistent estimates. Hence, it is not necessary to introduce a second algorithm in order to generate consistent estimates, as in [2], where the approximate maximum likelihood (AML) algorithm of [10] was used in addition to the SG algorithm.

We consider the MIMO system

$$y_n + A_1 y_{n-1} + \cdots + A_p y_{n-p} = B_1 u_{n-1} + \cdots + B_q u_{n-q}$$
  
+  $w_n + C_1 w_{n-1} + \cdots + C_r w_{n-r}$  (1)

where  $y_n$ ,  $u_n$ , and  $w_n$  are m-, l-, and m-dimensional, respectively, and  $y_i = 0$ ,  $u_i = 0$ ,  $w_k = 0$  for all i < 0, j < 0, k < 0.

Let  $\mathfrak{F}_n$  be a family of nondecreasing  $\sigma$ -algebras; assume that  $w_n$  and  $u_n$  are  $\mathfrak{F}_n$ -measurable and that

$$E(w_n/\mathfrak{F}_{n-1}) = 0, \ E(\|w_n\|^2/\mathfrak{F}_{n-1}) \leq k_o r_{n-1}^{\epsilon}, \qquad 0 \leq \epsilon < 1$$
(2)

where  $k_o$  is a positive constant and  $r_n$  is defined below in (10).

 $A_i, B_j, C_k, i = 1, \dots, p, j = 1, \dots, q, k = 1, \dots, r$  are the unknown matrix coefficients to be estimated.

Let us write

φ.

$$A(z) = I + A_1 z + \cdots + A_p z^p \tag{3}$$

$$B(z) = B_1 + B_2 z + \cdots + B_n z^{q-1}$$
(4)

$$C(z) = I + C_1 z + \cdots + C_r z'$$
 (5)

where z denotes the unit backward shift operator. We shall adopt the following notation:

$$\theta^{r} = [-A_{1}, \cdots, -A_{p}, B_{1}, \cdots, B_{q}, C_{1}, C_{r}] mx(mp + lq + mr)$$
 (6)

$$= [y_n^{\tau}, y_{n-1}^{\tau}, \cdots, y_{n-p+1}^{\tau}, u_n^{\tau}, \cdots, u_{n-q+1}^{\tau}]$$

$$y_n^{\tau} - \phi_{n-1}^{\tau} \theta_{n-1}, \cdots, y_{n-r+1}^{\tau} - \phi_{n-r}^{\tau} \theta_{n-r}$$
 (7)

$$\phi_n^{or} = [y_n^{\tau}, y_{n-1}^{\tau} \cdots y_{n-p+1}^{\tau}, u_n^{\tau} \cdots u_{n-1+1}^{\tau}, w_n^{\tau} \cdots w_{n-r+1}^{\tau}]$$
(8)

where  $\theta_n$  is the estimate for  $\theta$  given by the SG algorithm

$$\theta_{n+1} = \theta_n + \frac{\phi_n}{r_n} (y_{n+1}^{\tau} - \phi_n^{\tau} \theta_n), \qquad (9)$$

$$r_n = 1 + \sum_{i=1}^n \|\phi_i\|^2, \qquad r_o = 1$$
 (10)

with  $\phi_{-1}$  and  $\theta_o$  deterministic and arbitrarily chosen.

The difference between the SG algorithm and the QLS algorithm lies in the fact that the residual term  $y_n^{\tau} - \phi_{n-1}^{\tau}\theta_{n-1}$  in the SG algorithm is replaced by the term  $y_n^{\tau} - \phi_{n-1}^{\tau}\theta_n$  in the QLS algorithm; in other words, the *a priori* prediction error is replaced by the *a posteriori* prediction error.

Set and

$$\tilde{\theta}_n = \theta - \theta_n, \tag{11}$$

$$\xi_n = y_n - w_n - \theta_{n-1}^{\tau} \phi_{n-1}.$$
 (12)

Then we have

$$C(z)(y_n - w_n - \theta_{n-1}^{\tau} \phi_{n-1}) = \{(y_n - C(z)w_n) + (C(z) - I)(y_n - \theta_{n-1}^{\tau} \phi_{n-1})\} - \theta_{n-1}^{\tau} \phi_{n-1}$$
$$= \theta^{\tau} \phi_{n-1} - \theta_{n-1}^{\tau} \phi_{n-1} = \tilde{\theta}_{n-1}^{\tau} \phi_{n-1},$$

hence

$$C(z)\xi_n = \tilde{\theta}_{n-1}^\tau \phi_{n-1} \tag{13}$$

Manuscript received March 29, 1984. This paper is based on a prior submission of August 15, 1983. This work was supported by the Faculty of Engineering and the Faculty of Graduate Studies and Research, McGill University, by the NSERC International Scientific Exchange Programme, and by NSERC under Grant A1329, while the first author was visiting McGill University for the academic year 1982-1983.

and

$$\tilde{\theta}_{n-1} = \tilde{\theta}_n - \frac{\phi_n}{r_n} \left( \xi_{n+1}^{\tau} + w_{n+1}^{\tau} \right).$$
(14)

Using the now standard martingale convergence techniques (see, e.g., [5] or [6]) we may establish the following basic lemma.

Lemma 1: For the system and algorithm (1)-(10), if  $C(z) - \frac{1}{2}I$  is strictly positive real, then

$$\sum_{i=0}^{\infty} \frac{\|\xi_{i+1}\|^2}{r_i} < \infty, \text{ a.s., } \sum_{i=0}^{\infty} \frac{\|\tilde{\theta}_i \phi_i\|^2}{r_i} < \infty, \text{ a.s.}$$
(15)

and

tr 
$$\tilde{\theta}_n^{\tau} \tilde{\theta}_n \xrightarrow[n \to \infty]{} v < \infty$$
 on  $[\omega: r_n \xrightarrow[n \to \infty]{} \infty]$ . (16)

Set

It is easy to see that there exists a random *mr*-dimensional vector  $\eta_o$  depending on the initial values of  $\{\xi_i\}$  such that

$$\xi_n = G\eta_n, \ \eta_{n-1} = F\eta_n + G^{\dagger}\tilde{\theta}_n^{\dagger}\phi_n.$$
<sup>(19)</sup>

In other words,  $\{\eta_n\}$  is the state process of a realization of the  $\{\xi_n\}$  process. Clearly

$$\xi_{n+1} = G \sum_{i=0}^{n} F^{n-i} G^{i} \tilde{\theta} \phi_i + G F^{n+1} \eta_o.$$
<sup>(20)</sup>

From this and (14) we see that

$$\begin{split} \tilde{\theta}_{n+1} &= \tilde{\theta}_o - \sum_{j=0}^n \frac{\phi_j}{r_j} \left[ \sum_{i=0}^j \phi_i^{\tau} \tilde{\theta}_i G F^{\tau(j-i)} G^{\tau} + \eta_o^{\tau} F^{\tau(j+1)} G^{\tau} + w_{j+1}^{\tau} \right]. \end{split}$$

$$(21)$$

Now we list some conditions that we shall refer to later on.

1)Either r = 0, or r > 0 with  $C(z) - \frac{1}{2}I$  strictly positive real and with the zeros of det C(z) lying outside the closed unit disk.

2) There exist random variables  $\alpha > 0$ ,  $\beta > 0$ , and T > 0 such that

$$\sum_{i=m(t)}^{m(t+\alpha)} \frac{\phi_i \phi_i}{r_i} \ge \beta I, \ \forall t \ge T, \ \forall \omega \in [\omega : r_n \to \infty].$$
(22)

where

$$m(t) = \max [n : t_n \leq t], \ t \geq 0, \ t_n = \sum_{i=0}^{n-1} \beta_i, \ t_0 = 0,$$
(23)

$$\beta_i = \frac{\|\phi_i\|^2}{r_i} \,. \tag{24}$$

(This condition first appeared in [3].)

3) There exists a random variable  $\gamma$ ,  $0 < \gamma < \infty$  such that  $\nu_{\max}^{on}/\nu_{\max}^{on} \leq \gamma$ , for all  $n \ge 0$  where  $\nu_{\max}^{on}$  and  $\nu_{\min}^{on}$  are maximum and minimum eigenvalues of  $N_n \triangleq \sum_{i=1}^n \phi_i^o \phi_i^{or} + 1/dI$ , d = mp + lq + mr.

4) There exists a random variable  $\gamma$ ,  $0 < \gamma < \infty$  such that  $\nu_{\max}^n / \nu_{\min}^n \leq \gamma$ , for all  $n \ge 0$  where  $\nu_{\max}^n$  and  $\nu_{\min}^n$  are maximum and minimum eigenvalues of  $\sum_{i=1}^n \phi_i \phi_i^{\tau} + 1/dI$ , d = mp + lq + mr.

5)  $B_1$  is of full rank and the zeros of  $B_1^+ B(z)$  ( $B_1^+$  denotes the pseudoinverse of  $B_1$ ) are outside the closed unit disk.

6)  $B_1^+A(z)$  and  $B_1^-B(z)$  are left coprime and  $B_1^+A_p$  and  $B_1^+B_q$  are of full rank.

The next two items specify alternative adaptive control laws.

7) The  $\mathcal{F}_n$ -measurable control  $u_n$  is selected such that

$$\theta_n^{\tau} \phi_n = y_{n+1}^* \tag{25}.$$

where  $y_n^*$  is a bounded deterministic sequence.

8) The  $\mathfrak{F}_n$ -measurable control  $u_n$  is selected such that

 $\theta_n^{\tau} \phi_n = y_{n+1}^* + v_n \tag{26}$ 

with  $v_n$  an  $\mathcal{F}_n$ -measurable disturbance sequence. (This is the so-called continually disturbed control law which was introduced in [1].)

Lemma 2: For the SG algorithm, under the conditions of Lemma 1, Conditions 3) and 4) are equivalent on  $[\omega:r_n \rightarrow \infty]$  and each of them implies Condition 2).

*Proof:* This fact is proved in [5] as Theorem 2, but  $\xi_i$  and  $\phi_i$  in that paper should be understood to be defined by (7) and (12) above.

*Theorem 1:* For the system and algorithm in (1)-(10), if Conditions 1) and 2) are satisfied, then for almost all  $\omega \in [\omega: r_n \to \infty]$ 

 $\theta_n \xrightarrow[n \to \infty]{} \theta.$ 

*Proof:* Since the zeros of det C(z) lie outside the closed unit disk for r > 0, there exist constants  $\rho \in (0, 1)$  and  $k_3 > 0$  such that for both the r = 0 and the r > 0 cases  $||F^i|| \le k_3\rho^i$ .

Comparing (30) to (48) of [5] we find that the quantities  $1/r_j I$  and  $\bar{\theta}_i^{\tau} \phi_i$ , respectively, of the present note correspond to  $\alpha_j R_j$  and  $\bar{\theta}_{i+1}^{\tau} \phi_i$  of that paper; in that paper  $||\alpha_j R_j||$  is estimated by  $k_7/r_j$  and instead of (15) above we have

$$\sum_{i=0}^{\infty} \frac{\|\overline{\theta}_{i+1}^{z}\phi_{i}\|^{2}}{r_{i}} < \infty.$$

With such a correspondence the analysis from [5] completely fits the present case for  $\omega \in [\omega: r_n \to \infty]$ . To be precise, we first introduce some notation by setting

 $G_{n+1,i} = -\frac{1}{\beta_i} \sum_{j=i}^n \frac{\phi_j}{r_j} \phi_i \tilde{\theta}_i GF^{\tau(j-i)} G^{\tau}, \ G_{n,n} = 0$ 

and we also denote the last two terms in (21) by  $J_{n+1}$  and  $H_{n+1}$ , respectively. This yields

$$\tilde{\theta}_{n+1} = \tilde{\theta}_o + \sum_{i=0}^n \beta_i G_{n-1,i} + J_{n+1} + H_{n-1}.$$
(27)

We now introduce two interpolating functions X(t) and  $\hat{X}(t)$  for any given matrix sequence  $\{X_i\}$ . These are given by the following:

1) the linear interpolation

 $X(t_{i}) = X$ 

$$X(t) = \frac{t_{n+1} - t}{\beta_n} X_n + \frac{t - t_n}{\beta_n} X_{n+1}, \ t \in [t_n, \ t_{n+1}]$$

2) the constant interpolation

$$\bar{X}(t) = X_n, t \in [t_n, t_{n+1}).$$

Let  $G_{t,i}^o$  denote the linear interpolation of  $\{G_{n,i}\}$  with the interpolating length  $\{\beta_n\}$  for  $t \ge t_i$  whenever *i* is fixed. When  $t = t_k$ , then  $G_{t_k,i}^o = G_{k,i}$ . Now for fixed *t* denote by  $\bar{G}_{t,s}^o$  the constant interpolation for the sequence  $\{G_{t,i}^o\}$  on [0, t] with interpolating length  $\{\beta_i\}$ .

By the use of these two interpolations, the sum in (38) for  $\bar{\theta}_{n+1}$  turns into an integral of the function  $\bar{G}_{t,s}^{o}$  when it appears in the formula for the interpolating function  $\bar{\theta}(t)$ . To be specific, we have

$$\tilde{\theta}(t) = \tilde{\theta}_o + \int_o^t \tilde{G}_{t,s}^o \, ds + J(t) + H(t)$$
(28)

where J(t) and H(t) are the linear interpolating function for the sequences  $\{J_n\}, \{H_n\}.$ 

Notice that since  $\omega \in [\omega: r_n \to \infty]$ ,  $\tilde{\theta}(t)$  is defined for all  $t \ge 0$  and we notice that

$$\tilde{\theta}(t_n) = \tilde{\theta}_n. \tag{29}$$

Define the family of matrix functions  $\{\tilde{\theta}_n(t)\}$  by shifting the argument of  $\tilde{\theta}(t)$  to the left as shown by

$$\tilde{\theta}_n(t) = \tilde{\theta}(t+n) \qquad t \ge 0. \tag{30}$$

We now invoke a major technical result of [5]; the proof of this lemma is valid in the present case subject only to the exchange of the symbols mentioned above.

Lemma 3: Under the conditions of Theorem 1, for any fixed  $\omega \in [\omega:r_n \rightarrow \infty]$ ,  $\{\tilde{\theta}_n(t)\}$  is uniformly bounded and equicontinuous.  $\Box$ Hence, according to the Arzela-Ascoli theorem, there exists a subsequence  $\{\tilde{\theta}_{n_k}(t)\}$  of  $\{\tilde{\theta}_n(t)\}$  and a continuous matrix function  $\theta(t)$  which is the uniform limit of  $\{\tilde{\theta}_{n_k}(t)\}$  over any finite interval.

It follows from the proof of the lemma that

$$\begin{split} \|\tilde{\theta}(t+\Delta) - \tilde{\theta}(t)\| &= \lim_{k \to \infty} \|\tilde{\theta}_{n_k}(t+\Delta) - \tilde{\theta}_{n_k}(t)\| \equiv \lim_{k \to \infty} \|\tilde{\theta}(t+\Delta+n_k) - \tilde{\theta}(t+n_k)\| = 0 \end{split}$$

and hence  $\tilde{\theta}(t)$  is a constant matrix  $\tilde{\theta}^o$ .

Now we show that  $\tilde{\theta}^o = 0$ ; for a fixed  $t \in [0, \infty)$  we have, by the Schwartz inequality, the definition of  $\alpha$  and  $\beta$  in Condition 2) above and the fact that  $\beta_i \leq 1$ ,

$$\lim_{k \to \infty} \left\| \sum_{i=m(l+n_k)}^{m(l+n_k+\alpha)} \frac{\phi_i \phi_i^T}{r_i} \tilde{\theta}_i \right\| \leq \sqrt{2+\alpha} \lim_{k \to \infty} \left( \sum_{i=m(l-n_k)}^{m(l+n_k-\alpha)} \frac{\|\tilde{\theta}_i^T \phi_i\|^2}{r_i} \right)^{1/2} = 0.$$
(31)

Notice that for all  $i \in [0, 1, \dots, m(t + n_k + \alpha) - m(t + n_k)] \triangleq S$ 

$$t < t_{m(t+n_k)+1} - n_k \leq t_{m(t+n_k)-1-i} - n_k = t_{m(t+n_k)} + \sum_{j=m(t+n_k)}^{m(t+n_k)+i} \beta_j - n_k$$
$$\leq t_{m(t+n_k)} + \sum_{j=m(t+n_k)}^{m(t+n_k+\alpha)} \beta_j - n_k \leq t + \alpha + 2,$$

in other words,  $t_{m(t+n_k)+i-1} - n_k \in [t, t + \alpha + 2]$ , for all  $i \in S$ . Hence,

$$\tilde{\theta}_{n_k}(t_{m(t+n_k)+i+1}-n_k) \to \tilde{\theta}^o \text{ as } k \to \infty \text{ and by (29), (30)}$$
$$\tilde{\theta}_{m(t+n_k)+i+1} \to \tilde{\theta}^o \quad (32)$$

uniformly in  $i \in S$ . Consequently, we assert

$$\lim_{k\to\infty}\sum_{i=m(i+n_k)}^{m(i+n_k+\alpha)}\beta_i\|\tilde{\theta}_i-\tilde{\theta}^o\|=0.$$

From (31), (32) it is easy to conclude that

$$\tilde{\theta}^{oT} \left[ \lim_{k \to \infty} \sum_{i=m(t+n_k)}^{m(t+n_k+\alpha)} \frac{\phi_i \phi_i^T}{r_i} \right] \tilde{\theta}^o = 0.$$
(33)

[It is worth remarking that until this point all results have been obtained without invoking Condition 2)].

Now by using 2) it follows immediately from (33) that

$$\tilde{\theta}^o = 0$$
 on  $[\omega : r_n \to \infty]$ ,

and  $\tilde{\theta}(t + n_k) \to 0$  uniformly in  $t \in [a, b]$ , where [a, b] is any finite interval. Since  $\tilde{\theta}(t_n) = \tilde{\theta}_n$  it is easy to see that for any fixed  $\omega \in [\omega:r_n \to \infty]$  there exists a subsequence  $\tilde{\theta}_{m_k} \to 0$  as  $k \to \infty$ . From here by Lemma 1 we conclude that  $\lim_{n \to \infty} \operatorname{tr} \tilde{\theta}_n^T \tilde{\theta}_n = \lim_{k \to \infty} \operatorname{tr} \tilde{\theta}_{m_k}^T \tilde{\theta}_{m_k} = 0$ , i.e.,

$$\theta_n \xrightarrow{\rightarrow} \theta \; \forall \omega \in [\omega : r_n \xrightarrow{\rightarrow} \infty].$$

Let  $\{y_n^*\}$  be a bounded deterministic reference sequence.

Theorem 2: Assume that for (1)-(10) Conditions 1, 5, and 7) are satisfied, and w satisfies

$$0 < \overline{\lim}_{n \to \infty} \frac{1}{n} \sum_{i=1}^{n} \|w_i\|^2 < \infty \text{ a.s.}$$
(34)

Then  $r_n \to \infty$  and

$$\overline{\lim_{n\to\infty}} \ \frac{1}{n} \sum_{i=1}^{n} \|u_i\|^2 < \infty, \ \overline{\lim_{n\to\infty}} \ \frac{1}{n} \sum_{i=1}^{n} \|y_i\|^2 < \infty$$
(35)

$$\overline{\lim_{n \to \infty}} \|\frac{1}{n} \sum_{i=1}^{n} (y_i - y_i^*) (y_i - y_i^*)^{\tau} - \frac{1}{n} \sum_{i=1}^{n} w_i w_i^{\tau} \| = 0.$$
(36)

*Proof:* Suppose  $\lim_{n\to\infty} r_n < \infty$ , then  $\phi_n \to 0$ ,  $y_n \to 0$ ,  $u_n \to 0$ , and hence  $w_i \to 0$ . But, since C(z) is asymptotically stable and (34) holds, this is seen to be an event of probability zero and so  $r_n \to \infty$  a.s.

By 5) there exists constants (which may depend upon  $\omega$ ) such that

$$\frac{1}{n}\sum_{i=1}^{n} \|u_i\|^2 \leqslant \frac{k_4}{n}\sum_{i=1}^{n} \|y_{i+1}\|^2 + k_5$$

Then using (12), (34), and 7), it can be shown (as in, e.g., [6]) that

$$\frac{1}{n}\sum_{i=1}^{n}\|y_{i+1}\|^{2} \leqslant \frac{k_{8}}{n}\sum_{i=1}^{n}\|\xi_{i+1}\|^{2} + k_{q}$$

Consequently,

$$\overline{\lim_{n \to \infty}} \, \frac{r_n}{n} < \infty \,, \tag{37}$$

and hence via the Kronecker lemma we have

$$\frac{1}{n}\sum_{i=1}^{n} \|\xi_{i+1}\|^2 \xrightarrow[n \to \infty]{} 0 \text{ a.s.}$$
(38)

But by (12) and Condition 7)

 $(y_i - y_i^*)(y_i - y_i^*)^{\tau} - w_i w_i^{\tau} = \xi_i \xi_i^{\tau} + \xi_i w_i^{\tau} + w_i \xi_i^{\tau}$ 

and from this and (34) we obtain (36), while (35) follows from (37).  $\Box$ Now we introduce the continually disturbed controls of Condition 8). Theorem 3: Let  $\{w_i\}$ ,  $\{v_i\}$  be two mutually independent i.i.d. sequences with  $Ev_i = Ew_i = 0$ ,  $Ew_iw_i^{\tau} = R_1 > 0$ ,  $Ev_iv_i^{\tau} = R_2 > 0$ , and let  $\{y_i^*\}$ be a bounded deterministic reference sequence. For the system and algorithm (1)-(10), with  $\mathfrak{F}_n \triangleq \sigma\{w_i, v_i, i \leq n\}$ , if Conditions 1), 5), 6), and 8) are satisfied, then  $r_n \to \infty$ ,

$$\lim_{n \to \infty} \frac{1}{n} \sum_{i=1}^{n} ||u_i||^2 < \infty, \quad \lim_{n \to \infty} \frac{1}{n} \sum_{i=1}^{n} ||y_i||^2 < \infty$$
  
$$\cdot \quad \lim_{n \to \infty} \frac{1}{n} \sum_{i=1}^{n} (y_i - y^*_i)(y_i - y^*_i)^{\tau} = R_1 + R_2$$

and

$$\theta_n \to \theta$$
 a.s.

Proof: (Sketch) From (12) and Condition 8) we have

$$y_{n+1} = \xi_{n+1} + y_{n+1}^* + (w_{n+1} + v_n).$$
<sup>(40)</sup>

(39)

By the strong law of large numbers we know that  $1/n \sum_{i=1}^{n} w_i w_i^{r} \xrightarrow{\rightarrow} R_1$ , and hence  $r_n \xrightarrow{\rightarrow} \infty$  a.s. Recall that (37) and (38) still hold. Consequently, (39) follows immediately.

To complete the proof it is sufficient to show the

To complete the proof it is sufficient to show that Condition 3) holds for the regression vector  $\phi_n^o$  in (8), since then, by Lemma 2, Condition 2) is true and consequently Theorem 1 may be applied.

But this follows using the method of analysis contained in [7] and [2]. Concerning the sequence  $\{y_n^*\}$ , we observe that only the boundedness property is used and not the existence of the limits  $\lim_{n\to\infty} 1/n \sum_{i=1}^n y_{i-k}^* y_{i-i}^{*r}$ , for all k, l as assumed in the two papers cited above.

We also note that the i.i.d. hypotheses on w and v in this theorem were only adopted for simplicity and that Theorem 3 holds, with random R > 0 and  $\gamma < \infty$ , if w and v are taken to be mutually uncorrelated ergodic martingale difference sequences as in [7] and [2].

### ACKNOWLEDGMENT

The authors would like to acknowledge conversations with P. R. Kumar and C. Z. Wei who pointed out the possibility that the stochastic gradient adaptive control algorithm, with disturbed controls, generates strongly consistent parameter estimates.

#### REFERENCES

- P. E. Caines, "Stochastic adaptive control: Randomly varying parameters and continually disturbed controls," in *Control Science and Technology for the Progress of Society*, H. Akashi, Ed. New York: Pergamon, 1981, pp. 925– 930; also in *Proc. IFAC Cong.*, Kyoto, Japan, 1981.
   P. E. Caines and S. Lafortune, "Adaptive control with recursive identification for
- [2] P. E. Caines and S. Lafortune, "Adaptive control with recursive identification for stochastic linear systems," *IEEE Trans. Automat. Contr.*, vol. AC-29, pp. 312-321, April 1984; presented at the Conf. Decision Contr., Orlando, FL, Dec. 1982.
- [3] H. F. Chen, "Strong consistency of recursive identification under correlated noise," J. Syst. Sci. Math. Sci., vol. 1, no. 1, pp. 34–52, 1981.
- [4] —, "Quasi-least squares identification and its strong consistency," Int. J. Contr., vol. 34, no. 5, pp. 921–936, 1981.
- [5] , "Recursive system identification and adaptive control by use of the modified least squares algorithm," SIAM J. Contr. Optimiz., vol. 22, no. 5, pp. 758-776, Sept. 1984.
- [6] G. C. Goodwin, P. J. Ramadge, and P. E. Caines, "Discrete-time stochastic adaptive control," SIAM J. Contr. Optimiz., vol. 19, pp. 829-853, Nov. 1981; corrigendum, vol. 20, p. 893, Nov. 1982.
- [7] S. Lafortune, "Adaptive control with recursive identification for stochastic linear systems," M.Eng. thesis, Dep. Elec. Eng., McGill Univ., Montreal, Mar. 1982.
- [8] L. Ljung, "On positive real transfer functions and the convergence of some recursive schemes," *IEEE Trans. Automat. Contr.*, vol. AC-22, pp. 539–550, 1977.
- [9] J. B. Moore, "Persistence of excitation in extended least squares," *IEEE Trans.* Automat. Contr., vol. AC-28, pp. 60-68, Jan. 1983.
- [10] V. Solo, "The convergence of AML," IEEE Trans. Automat. Contr., vol. AC-24, pp. 958-962, 1979.